

$$\underbrace{\left(\frac{1!}{1} + \frac{3!}{3} + \frac{5!}{5} + \dots + \frac{25!}{25}\right)}_V \underbrace{\left(\frac{2!}{2} + \frac{4!}{4} + \frac{6!}{6} + \dots + \frac{26!}{26}\right)}_S$$

۲ ✓

۲

الف) $\sqrt[4]{\frac{1}{(4+\sqrt{7})}} \times \sqrt{1+\sqrt{7}} = \frac{1}{\sqrt[4]{(4+\sqrt{7})}} \times \sqrt{1+\sqrt{7}} = \frac{\sqrt{(1+\sqrt{7})}}{\sqrt[4]{(4+\sqrt{7})}} = \sqrt[4]{\frac{1+\sqrt{7}}{4+\sqrt{7}}} = \sqrt[4]{\frac{1+\sqrt{7}}{1+\sqrt{7}}} = \sqrt[4]{1} = \boxed{1}$ ✓

$\sqrt[4]{1+\sqrt{7}} = \sqrt[4]{(1+\sqrt{7})^2} = \sqrt[4]{1+2\sqrt{7}+7} = \sqrt[4]{8+2\sqrt{7}}$

ب) $\left(\frac{\sqrt{2}+\sqrt{5}}{\sqrt{10}+2}\right) \left(\frac{\sqrt{2}-\sqrt{5}}{\sqrt{10}-2}\right) = \frac{1}{\sqrt{10}} \times (-\sqrt{10}) = \boxed{-1}$ ✓

۲

$\rightarrow \frac{\sqrt{10}-2}{10-4} = \frac{2\sqrt{5}+2\sqrt{5}-2\sqrt{2}-2\sqrt{2}}{6} = \frac{2\sqrt{2}}{6} = \frac{\sqrt{2}}{3} = \frac{1}{\sqrt{3}} \rightarrow C = \sqrt{9-5} = 2, \sqrt{\frac{5}{2}} - \sqrt{\frac{1}{2}} - \sqrt{\frac{5}{2}} - \sqrt{\frac{1}{2}} = -\sqrt{2}$

الف) $= \frac{2\sqrt{3}+3\sqrt{3}}{5-\sqrt{5}} - \frac{2}{\sqrt{3}-1} = \frac{\sqrt{3}+\sqrt{3}-\sqrt{3}-1}{\sqrt{3}-1} = \frac{\sqrt{3}-1}{\sqrt{3}-1} = \boxed{1}$ ✓

۲

$\rightarrow \frac{(2\sqrt{3}+3\sqrt{3})}{5-\sqrt{5}} \times \frac{5+\sqrt{5}}{5+\sqrt{5}} = \frac{10\sqrt{3}+15\sqrt{3}+2\sqrt{3}+3\sqrt{3}}{25-5} = \frac{19\sqrt{3}+19\sqrt{3}}{20} = \frac{38\sqrt{3}}{20} = \frac{19\sqrt{3}}{10}$

ب) $\frac{3\sqrt{3}-1}{4+\sqrt{3}} + \frac{1}{2-\sqrt{3}} = \frac{6\sqrt{3}-2-9+3\sqrt{3}+2+\sqrt{3}}{16-3} = \frac{10\sqrt{3}-7}{13} \times \frac{13-2\sqrt{3}}{13-2\sqrt{3}} = \frac{130\sqrt{3}-26-91+42\sqrt{3}}{169-52} = \frac{172\sqrt{3}-125}{117}$

الف) $\frac{\sqrt{1+\sqrt{2}}+\sqrt{2}-1}{\sqrt{2}-\sqrt{2}} - 2 \rightarrow \sqrt{2}+2-2 = \sqrt{2}$

$A^2 = (\sqrt{1+\sqrt{2}}+\sqrt{2}-1)^2 = 1+2\sqrt{2}+2-2\sqrt{2}-2\sqrt{2}+2 = 5-2\sqrt{2} \rightarrow A = \sqrt{5-2\sqrt{2}}$

$\frac{\sqrt{2}(\sqrt{5+2\sqrt{2}})}{(\sqrt{5}-\sqrt{2})} = \sqrt{2} \times \frac{\sqrt{5+2\sqrt{2}}}{\sqrt{5}-\sqrt{2}} \rightarrow \frac{\sqrt{2}+\sqrt{2}}{\sqrt{5}-\sqrt{2}} \times \frac{\sqrt{5}+\sqrt{2}}{\sqrt{5}+\sqrt{2}} = (\sqrt{2}+\sqrt{2})^2 \rightarrow \sqrt{2} \times \sqrt{5+2\sqrt{2}} = \sqrt{2}(\sqrt{5}+\sqrt{2})$

ب) $= 2^{\frac{1}{12}} \times 2^{\frac{1}{12}} \times 2^{\frac{1}{12}} \times 2^{\frac{1}{12}} \times 2^{\frac{1}{12}} \times 2^{\frac{1}{12}} = 2^{\frac{1}{12} \times 6} = 2^{\frac{1}{2}} = \sqrt{2} = \boxed{\sqrt{2}}$ ✓

۱

$\rightarrow \frac{3^x(1+3+9+27+81+243)}{2^x(\frac{1}{2}+\frac{1}{4}+\frac{1}{8}+\frac{1}{16}+\frac{1}{32}+\frac{1}{64})} = 52 \Rightarrow \frac{3^x}{2^x} = \frac{151/16 \times 64}{364} = 2/16 = \frac{1}{8} \Rightarrow x = \boxed{3}$ ✓

۲

$$\left. \begin{aligned} (a^r + b^r)(a-b)^r &= ((a-b)^r)^r = (a-b)^{2r} \\ (a^r + b^r)(a+b)^r &= ((a+b)^r)^r = (a+b)^{2r} \end{aligned} \right\} \Rightarrow ((a+b)(a-b))^r = (a^2 - b^2)^r = ((a^r - b^r)(a^r + b^r))^r =$$

$$(a^r + b^r)(a+b)^r = ((a+b)^r)^r = (a+b)^{2r}$$

$$(a^r + b^r - 1)(a^r + b^r)^r = (\sqrt{2}^r + \sqrt{2}^r - 1)(\sqrt{2}^r)^r = (2\sqrt{2}(\sqrt{2}^r - 1))^r = 2\sqrt{2}(\sqrt{2}^r - 1)(2\sqrt{2}(\sqrt{2}^r - 1))^r$$

$$= 1 \times (2\sqrt{2}) = 16(2\sqrt{2})$$

$$t(2\sqrt{2}) = 16\sqrt{2} \Rightarrow t = \boxed{16}$$

$$\left(a + \frac{1}{a} + \sqrt{2}\right)^r \left(a - \frac{1}{a} - \sqrt{2}\right)^r = \left(a^r + 1 - a\sqrt{2} + 1 + \frac{1}{a^r} - \frac{\sqrt{2}}{a} + a\sqrt{2} + \frac{\sqrt{2}}{a} - 1\right)^r = \left(a^r + \frac{1}{a^r}\right)^r$$

$$= a^r + \frac{1}{a^r} + 1 = 2^t$$

$$a = \sqrt{2 - \sqrt{2}} = \sqrt{(2 - \sqrt{2})^r} = \sqrt{2 - \sqrt{2}} \rightarrow (2 - \sqrt{2})^r + \frac{1}{(2 - \sqrt{2})^r} + 1 = (2 - \sqrt{2})^r + 1 + \frac{1}{(2 - \sqrt{2})^r}$$

$$\rightarrow \frac{a^r + \frac{1}{a^r}}{a} = \frac{(a+1)^r}{a} \Rightarrow \frac{(1 - \sqrt{2})^r}{(2 - \sqrt{2})^r} = \frac{16(2 - \sqrt{2})^r}{(2 - \sqrt{2})^r} = 16 = 2^t \Rightarrow t = \boxed{4}$$

$$(1 - \sqrt{2})^r = 2^r + 1 - 2\sqrt{2} = 11 - 2\sqrt{2} = 16(2 - \sqrt{2})^r$$

$$(rA)^{-\frac{1}{r}} = \frac{1}{(rA)^{\frac{1}{r}}} = \frac{1}{\sqrt[r]{rA}} \xrightarrow{A=r} \frac{1}{\sqrt[r]{r \times r}} = \boxed{\frac{1}{r}}$$

$$\sqrt[r]{\frac{r \sqrt{16}}{r}} \times \left(\frac{1}{r}\right)^{-\frac{r}{r}} = \sqrt[r]{\frac{r \sqrt{16}}{r}} \times \sqrt[r]{\frac{r}{r}} = \sqrt[r]{\frac{r \sqrt{16}}{r}} = \sqrt[r]{16} = 2 = r = A$$

$$\sqrt[r]{a} = r \sqrt[r]{a} \Rightarrow \frac{\sqrt[r]{a}}{\sqrt[r]{a^r}} = r \Rightarrow \sqrt[r]{\frac{a}{a^r}} = r \Rightarrow \sqrt[r]{\frac{1}{a^{r-1}}} = r \Rightarrow \frac{1}{a^{r-1}} = r^r \Rightarrow a = \frac{1}{r^{\frac{r}{r-1}}}$$

$$\frac{\frac{1}{a} - r}{1 + \sqrt{2}} = \frac{r\sqrt{2} - r}{1 + \sqrt{2}} \times \frac{\sqrt{2} - 1}{\sqrt{2} - 1} = \frac{r(2 - 1 - 2\sqrt{2})}{2 - 1} = \frac{r(1 - 2\sqrt{2})}{2} = \frac{12 - 6\sqrt{2}}{2} = \boxed{6 - 3\sqrt{2}}$$

$$(\sqrt{x+a} - \sqrt{x-r})(\sqrt{x+a} + \sqrt{x-r}) = r(\sqrt{x+a} + \sqrt{x-r}) \Rightarrow x+a - x-r = r\sqrt{x+a} + r\sqrt{x-r}$$

$$\Rightarrow a+r = r(\sqrt{x+a} + \sqrt{x-r}) \Rightarrow \frac{a+r}{r} = \sqrt{x+a} + \sqrt{x-r}$$

$$\Rightarrow \sqrt{x+a} + \sqrt{x-r} - r = \frac{a}{r} + r - r = \frac{a}{r}$$